Evoked analysis
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Induced responses

Time-frequency responses
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Oscillations: In/Out of phase
| |
1 Single Epoch(s) 1 Single Epoch(s)
© - © -
-~ o o ~ < o
= =
N & o~ o
o -3
3 o+ 3 o+
g - T
E E
< T - < T -
© 4 ©o 4
! T T T T T T T ! T T T T T T T
-1.0 0.5 0.0 0.5 1.0 1.5 2.0 -1.0 0.5 0.0 0.5 1.0 1.5 2.0
Time (s) Time (s)
Mean of Epochs Mean of Epochs
© ©
-~ T o ~ =« -
2 3
e S &
o o
3 e T o o
g oA 2 oA
E E
< T - < < -
@ @
T T T T T T T T T T T T T T
1.0 0.5 0.0 0.5 1.0 15 2.0 1.0 0.5 0.0 0.5 1.0 1.5 2.0

Time (s) Time (s)




Se 0= Karolinska
F255 Institutet

Oscillations: In/Out of phase
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Oscillations: In/Out of phase
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Oscillations: In/Out of phase
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Oscillations: In/Out of phase

Evoked responses

are phase-locked
oscillations g%
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Time-frequency
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Time-frequency ‘gnalysis
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Time-frequency analysis
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Time-frequency anglysis
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Time-frequency analysis
Time-frequency representation
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Source analysis (beamformer)
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Quick terminology

= Sensor space

= Source space

= Source model

= |eadfield/Forward model

= Head model/volume conductor
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Source models

A single (or few) point(s)
Evenly distributed
Distributed according to anatomy
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HEAD MODEL: How the electric
currents are conducted In the head
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LEADFIELD: How a sensor sees a
source If It was active?

"Tactile source" "Occipital” source




